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Note : Attempt all questions.
I TR F S € |
Graph paper 1s required:

AT FT () a@\&%ﬁmaﬁmﬁrqﬁ%l

' itted.
General Instructions : Q,ggﬁe of calculator is not permitte | .
@ g i 1 § 97 @S ¥ 1 @08 (3) % ggfawcdld I9,
Ny (7) ¥ fr wAl 1 Fd 791 @ (H) ¥ geaemd R ¥
e Y T 1 3i Ifed § |

Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write

true / false are given. Each question carries 1 mark.

(iif) e wHiF 2§ 6 T AMALITNT W § | TP T W 2 3
ayraifed ¥ |
Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks.
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(2] |
#| 7% IH W 3 3

(iv) W oo 7 @ wﬁmaqﬁxagﬁﬂqﬁ

aeifea ¥

Question Nos. 7 to 10 ar¢ ve

Each question carries 3 marks. + s
(v) W wEE 118 14%'ﬁwﬂq“ﬂ%‘mm

fore & | S W T 4 81 ST gl

Question Nos. 11 to 14 are short answer type ques.tions. Each

question has an internal choice. Each question carrics 4 marks.
(vi) ma?qia?wqaiwagmﬂﬂm%lmmﬂﬂfﬂﬁﬁ;ﬁw

¥ 1 T W W5 o e € |

Question Nos. 15 and 16 are short answer type questions. Each

ry short answer type questions,

question has an internal choice. Eachquestion carries S marks.

(vif) T i 17 T 18 Seewld W | W we A Siafiew foehey
¥ | Welsh W W 6 3 eI § |

Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.
D\

\\
wyT-1 (TUs-21 ) TEl fafau .

% o .
(Part-A) Choo d write the correct option :

() ﬂﬁg@\)& 6x2 - 5% + 1 &, [ P(1) %1 =1 &y -

[1]

(sn 1
(7)) 2
(@)5
() 6

If P(x)=6x?—5x+ 1, then the value of P(1) will be -

(@)
(b)
()
@

1

W 2
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(1]

(@) 1

b)) 2

(c) 3

d -1 )
(3#1) ﬁ?’s(-l,-3)mﬂ§ﬂf¥!ﬁa‘ﬂﬂ ?

(37) 9= qufa

(@) o =g

(@) T a'gafmg\@@

(2 =i T

Point (@@—3) lies in which quadrant?

(@) First quadrant

®) gecond quadrant

(©) Third quadrant

@ Fourth quadrant
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The value of tan30° x cot30° will be :

(@ 1
1

(b) 73'

© 3

@ 1
3

(v) I wEfy s a1 T fEEE SR W e €, Q@ afs

Rt foran s =nfeew
(87) 3mm

(&) TH-<heE

(9) IR

(%) T

If in fixed deposit the interest is calculated quaterly, then rate of
interest per annum will be :

[

(@) half
(b) one-fourti>

f
(©) O{J%y;@%‘les
@ o
(Eue-a) fam wr w9 S

(Part-B) Fill in the blanks :
@ (V3 +1) sl (Ji'—é).aﬂmmm 3

The arithmetic mean of (\E + 1) and (\E - l) is

(i) 5,6 10 1 Srgatgawit Eq|
The fourth proportional of 5, 6, 10 is

IR
(i) e @ P wdE

rele is . .
~:ameter Of a1Y circleis ______ ofits radius.
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[5]

(1
4
(V) cos(90° - 53°) F1 AH ________.3"?"
The value of cos(90°— 53°)1s __—— - .
g |

) Wﬁwaﬂzwmﬁmmwﬂsmﬁ |

The sum of an odd and even number is always
[ 1x5=5]

(@uE-¥ ) T s e fafae

(Part-C) Write true or false :

() avit wafram Tgye ¥AET HEAE
All congruent polygons are similar.

(i) y-mmmwﬁﬁmx-ﬁimﬁw'@m TN
The x-coordinate of any point on y-axis is zero.

(i) s H 9 PR €
A cuboid has 9 edges.

(iv) fodfaad 1 3T § TN D1 31 T ) U B ¢

The period from 1st April to 31st March is taken as financial year.

(v) afe T3 % TR 0T T, 6HSH F90 90° Fm
If all the angles\ uvadrilateral are equal, then 90° is the measure of
each anig‘§: )
Q
qﬁ(l@(3+x):(6+x)ﬁ,ﬁxﬂqﬂmml [2]

Find the value of xif (1+x): (3+x): (6+x),
ﬁg(s,@m"riaﬁ%ﬂ{ﬂmaﬁmi

i (2]
Calculate the distance of point (3, 4) from the origin,
at sec50° sin 56°
7 4 " cosecd0®  cos34° 2

sec50°  sin56°
nd the value of cosec40®  cos34°

Fi

/ —

s-2B*
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332+ Tx+ 1 = 0% & &1 4NTHA T& ToHA 7 FHfC ) (2]

wi-5
Find the sum and product of the roots of
I+ 7x+1=0
ﬁﬁ—e qe o9 W @il @1 iEd J B! [2]
Find the average of first ten even numbers.
gve-7  fag #ifag fF (20 +x2 - 5¢+2) @ (x+2) ¥ M FA R ATFA A "
i

g1
Prove that on dividing (2¢° + x2 - 5x + 2) by (x + 2), the remainder

is zero.
978 T dage 3 & SR F aRf 44 T, %) 9fe I i F=1E 10 I, 2,
i AT F1 AT T FIIC [3]

The circumference of the base of a right circular cylinder is 44 cm. If the
_height of the cylinder is 10 cm, then calculate the volume of the cylinder.

%ﬁﬁqﬁ(zfz+3)2—(zf:—3)?mwgwgs £, el n W& Wiga e

LR
] 3]
Prove that a fact%ég[.?n + 3)*<'(2n - 3)* is 8, where n is a natural
number. &
&
Q
(3]

T¥9-10 a'rfmﬂ?m"@%r-@ Tvd2=0 1 g FIIT|

Solve the quadratic equation 6x?+ 7x+2 =0,

gva-11 2 HA, 9 awcit 64 Mferdl 1 e 97 T g1 el o T qg WA A
Frn i ifor | [4]

A big sphere is made by melting down 64 small spheres, each of radius

2 cm. Find radius of the big sphere.

arear
OR

——
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w-12

qvq-13

Ife T WF % YR F ™ 12 AR, am S=rd 8 ekt %'ﬁ"*@ww
3R o @ Ff =

If diameter of the base of a cone is 12 cm and its height is 8 cm, then find

the total surface area and volume of the cone.

39 G @1 1 HeR A it ot gaom % ¢ am Y@ fag (6, 0) A
BT St R

Find the equation of that straight line which passes through the point
.7
(6, 0) and whosc slope is 3

rerar
OR

T safE 3 G MR A 5 efex Y wiarn ) uie Al H a9 g e R A=

g fi 1 Freifera arent | gatar T €

fr 1 2 3 4 5
T U AR FuET (ST )| 4 3 2 1 0
T g I st A gl f A dem ¥ 9w daw gifan)

Q
A man filled 5 li @&\of petrol in the fuel tank of his vehicle. The table

below shows{\& ve days and the petrol remaining on those days :

@ ‘ 1 2 3 4 5

[ Quantity of petrol remiaining (in liter) 4

Day

3 2 1 0

Draw a graph betwéen the petrol remaining and number of days.

=1 gron &6t Aifegent I Sifau
qui=w | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
amgfa ] 12 24 32 10 5
Find the median of the following table :
Class Interval | o-j0 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency I 12 24 32 10 5

(4]
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[8]

araar
OR

fore= WO Y TGP A9 HIfT
1020 | 20-30 | 30-40 | 40-50 50-51)
3 2

Tt 0-10
gt | 4 5 16 12
Find the mode of the following table :
30-40 | 40-50 | 50-60
12 3 2 _J
qgi-14 maﬁﬁmﬁ-—“@mfﬂ*ﬂﬁﬂmaﬁma‘f spemail & @il % AN
e A €1 (4]
Prove that—In 2 right—angled triangle, the square of the hypotenuse is
equal the sum of the squares of the other two sides.”
Jgar
OR
v ga # e 20 & | 2 e Sl TR Sansl o S w5 gl 24 J.
& | Sitar &1 ;rcmé{% FifaCl
The radi Qéircle is20.cm. The distance between two equal and parallel
chon&gk\%rl cm. Find the length of chord.
gya-15 WﬁﬂﬁPgﬁﬁﬁﬂﬁmlmﬂﬁﬁWﬁﬁABCﬁmaﬂm
faad AB = % po ®I [5)
Construct 3 triangle POR. Construct another triangle ABC along with itin
such that AB = %PQ.
arear
OR
/
-—--—_-_.-_——-___ -
S-2B+
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19]

= (4] ﬁ
£ZB =60 %l{‘a-;"a_.’.qaaﬁ Wmaﬁllhq.ﬁﬁff,43=6m_'ﬁ=4sn
l L]

Construct g o
Clrcume;
Write the Umcircle ofAABC, where 4B =
Steps ofconsﬁ'llcti(m =6cm, L4A=45°, /= 60°.

m—"ﬁ a’!ﬂ'ﬁl % 'l:f\jﬂa» .Ei 'a:a; ﬂ:

T W | 2 sy e T A S 5 o, st
2 31"1'?{6%%3‘[,??[53-@%@1% N
Vasim 0 [5]

pened . _
deposits & Ez Oa recurring deposit account in Punjab National Bank. He

s. 200 .
0'per month for 5 years. If rate of interest is 6% per annum

find the i
amount he wil] receive at the time of maturity.

1 ,000 &, o FE FgFT T5F
2. 12,00,001 53 5,00,000 &, 9% 10%
5,00,001 % | 10,00,000 %, 7% 1 20%

0% sl 30 s 1 3% foren S T

The income of a government employee in financial year 2013-2014 was
Rs. 3,60,000. He deposited Rs. 20,000 as yearly premium on life insurénce
policy and Rs. 4,000 every month in General Provident Fund. If a maximum

of Rs. 1,00,000 can be invested in any type of saving to qualify for tax

rebate, then calculate the payable income tax.

P.T.O.

S-2R+
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The rates of tax are as follows :

§l. No. Tax Limits Rate of
Tax
1. |Upto Rs. 2,00,000 NIL
2. |Rs. 2,00,001 to Rs. 5,00,000 10%
3. |Rs. 5,00,001 to Rs. 10,00,000 20%

In addition, a 39 education cess has to be paid over the income tax.

qga-17 e 3 TR 6 AT S 5,5, S, & 17 TAF 4} &1 U
e 1 g wE A 1, 2 3 3 @ fag Fifag &
55 =25,
¢ arithmetic progressions are S, S5 S respectively.

[6]

Sums of n terms of thre

If first term is 1 for every progression and common différences are 1,2, 3

respectively, then prove that S, +5; =25,

ayerar

OR _
ﬁﬁﬁﬁwﬂ@’ﬁmﬁﬁﬁﬂﬁiwﬂmﬁﬂmﬁg
ﬁmﬁ%@%;maﬁpﬁmmmm,

Syearsa \?%as threé times as old as my son. Ten years hence, I will be

twice 2sold as myson. Find my present age and my son’s present age.

qvi-18 fag #fC &
cosf . sin(90°=0) _ 200t (90°~6)
sec(90° - 0) +1 cosect — 1 6
Prove that

cosd sin(90°~6)
+ =2cot(90°~0
sec(90° - 6) +1  cosech — | cot(30°~9)

3+
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[11]
arerar
OR

mw%@ﬁﬁ;ﬂmﬁmﬁs#mﬁeﬁaﬁiﬁmaﬁhﬂi@
%‘%ﬁwaﬁqﬂ 60° 1 IO T ® | R ¥ H HAg i Fifeg)

A tree breaks to storm and the broken part bends so that the top of the tree

touches the ground making an angle 60° with it. The distance between the

foot of the tree to the point where the top touches the ground is 6 meters.

Flﬂd the height of the tree.

---------------------
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